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Q.1 Accounting is sometimes described as the language of business.
What is meant by this description?

(20)

Accounting is called the “language of business” because it is the
standardized means by which economic events of an enterprise are
1dentified, measured, recorded, summarized and communicated to
users who need this information to make economic decisions. Just as
a natural language allows people to.share ideas, ask questions, and
convey facts, accounting converts diverse business transactions into a
structured, intelligible set of financial statements and reports that
communicate the economic position, performance and cash flows of
an entity. Below is a detailed breakdown of what this description
implies and why it is apt.

1. Communication of economic reality

Accounting translates business activities — sales, purchases,
borrowings, investments, payments, accruals, depreciation, etc. —
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into a common format (monetary amounts presented in financial
statements). By converting heterogeneous events into monetary
measures and standardized disclosures, accounting communicates the
economic consequences of management’s decisions to internal and
external users (owners, managers, creditors, investors, employees,
regulators, suppliers, customers and others). Without accounting,
stakeholders would lack a consistent vocabulary to evaluate how a
business performed or how it stands financially.

2. Standardization and grammar (rules and principles)

Like anylanguage, accounting has rules — accounting concepts,
principles and standards (for example, accrual concept, matching
principle, going-concern, historical cost, conservatism, materiality)
and formal frameworks such as Generally Accepted Accounting
Principles (GAAP) or International Financial Reporting Standards
(IFRS). These standards ‘act as grammar: they govern recognition,
measurement, presentation and disclosure. Because the rules are
standardized, users can compare finaneial information across periods
and between different entities with greater reliability.

3. Structure and vocabulary (financial statements and accounts)

The core outputs of accounting — balance sheet (statement of
financial position), income statement (profit and loss), statement of
cash flows and statement of changes in equity — function like
sentences and paragraphs in a language. Accounts (assets, liabilities,
equity, revenues, expenses) are the vocabulary elements. Ledgers,
journals and trial balances are comparable to notebooks where words
are first written and organized. This structured vocabulary enables
precise communication: for instance, “current ratio” or “gross
margin’ conveys a specific performance attribute analogous to a
technical term in a language.
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4. Facilitation of decision-making and economic dialogue

Stakeholders use accounting information to ask and answer economic
questions: Is the company profitable? Is cash sufficient to meet
obligations? Is management generating acceptable returns? Based on
accounting reports, investors decide to buy or sell, creditors decide to
lend, and managers decide on budgeting, pricing or investment.
Accounting thus enables an.economic dialogue between management
and external parties — it facilitates contracting; allocation of
resources, performance evaluation and accountability.

5. Objectivity, measurement and limitations

Accounting strives forjobjectivity land verifiability by using
measurement bases (historical cost, fair.value-where applicable) and
documentary evidence (invoices, contracts). This increases credibility
of the “words” produced. However, like any language, accounting has
limitations — measurement involves estimates and judgments (e.g.,
useful lives, allowance for doubtful accounts, impairment), some
items cannot be expressed fully in monetary terms (employee morale,
brand reputation, human capital), and different accounting choices
can lead to different presentations. Users-must therefore interpret the
“message” with an understanding of these limitations and the
assumptions behind reported figures.

6. Comparability, consistency and continuity

Accounting provides comparability across time and entities by
applying consistent policies. When companies adopt the same
recognition and measurement rules, users can compare financial
statements as they would compare texts written in the same language
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and dialect. Continuity concepts such as the going-concern
assumption provide a temporal reference that helps interpret future
obligations and asset valuation.

7. Enabling external reporting and regulation

Because accounting is the accepted language of business, regulators,
tax authorities and capital markets require financial reporting based
on accounting statements. This common language supports public
policy objectives: investor protection, efficient markets, taxation and
enforcement of contracts. In regulated industries, accounting
disclosures also serve as compliance instruments.

3. Examples that clarify the metaphor

— A manager’s decision to buy new equipment is
“translated” into an increase in property, plant and
equipment on the balance sheet and into depreciation
expense in subsequent periods; stakeholders read this and
infer capital investment and future depreciation charge.

— A loan covenant requiring a minimum debt-to-equity ratio
uses accounting numbers; the covenant’s enforcement is
possible because both parties rely on the common
accounting language.

— Earnings per share (EPS) is a compact phrase that
communicates profitability available to common
shareholders; it is meaningful only because EPS is
calculated from a standardized income and equity
presentation.
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9. Practical consequences of the metaphor

When users know the accounting language, they can critically
evaluate management assertions, compare alternatives (e.g., leasing
vs. buying), and model future cash flows. Conversely,
misinterpretation or selective disclosure (like “creative accounting”)
can distort communication, just as misuse or ambiguity in language
can mislead listeners.

10. Conclusion (concise interpretation)

In sum, describing accounting as the language of business emphasizes
its role as the standard method for encoding, recording and conveying
financial information. It highlights accounting’s function in
standardizing communication-among diverse users, facilitating
decisions, and supporting-economic interactions founded on a shared,
rule-based vocabulary: The phrase underscores both the power of
accounting to communicate complex-business-realities succinctly and
the responsibility borne by preparers-and users to understand the
rules, assumptions and limits inherent in that communication.

Q.2 In its simplest form, an account has only three elements or basic
parts. What are these three elements?

(20)

In accounting, an account (in ledger form) is the basic record used to
accumulate and report the increases and decreases in a particular
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asset, liability, equity, revenue or expense item. In its simplest and
most traditional presentation — the T-account or ledger account — an
account comprises three basic elements: (1) the account title (name),
(2) the debit side, and (3) the credit side. Each of these elements has a
distinct role; below is a full explanation with examples and
implications for double-entry bookkeeping.

1. Account Title (Name)

Definition and purpose: The account title is the identifier of the
account — the “word” that tells you what is being measured (for
example, Cash, Accounts Receivable, Inventory, Accounts Payable,
Capital, Sales Revenue, Salaries Expense, Depreciation Expense).
The title appears at the top of the T-account and indicates what
economic resource, obligation, equity component, income source or
cost'item the account tracks.

Importance: Accurate account titling ensures transactions are posted
to the correct account and permits meaningful-aggregation in trial
balances and financial statements.

2. Debit Side (Left-hand side)

Definition and purpose: The debit side is the left column of the
account where increases or decreases are recorded depending on the
account type. Under the double-entry system, every debit entry to one
account must be matched by a corresponding credit entry to another
account.

Rules of debit:
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For asset accounts: debits increase the balance. Example: Debiting
Cash increases Cash.

For expense accounts: debits increase expense balances (which reduce
equity). Example: Debiting Rent Expense records an expense.

For contra-liability or contra-equity accounts (in some contexts):
debits might reduce the normal balance.

Presentation: When recording transactions, the amount is entered on
the debit side, along with a brief narration and reference.

3. Credit Side (Right-hand side)

Definition-and purpose: The credit side is the right column of the
account where increases.or decreases.are recorded depending on
account type. Credits arethe mirror of debits and must balance across
the double-entry system.

Rules of credit:

For liability accounts: credits increase the balance. Example:
Crediting Accounts Payable increases what the company owes.

For equity accounts: credits increase owners’ equity (e.g., Credit
Capital, Credit Retained Earnings).

For revenue accounts: credits increase revenue (which increases
equity). Example: Crediting Sales Revenue records earned revenue.
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Presentation: Like debits, credits are recorded with amount, date and
narration.

4. The “Third” element often implied: Balance (running or closing)

While the T-account physically shows title, debit side and credit side,
the third conceptual element sometimes described is the account’s
balance — the net of debits and credits. In many textbooks the three
basic parts are listed as.(a) account title, (b) debit column, (c) credit
column — but a more interpretive list includes balance as an element
because the whole purpose of the two sides 1s to produce the running
or closing balance (debit or credit). Explanation of balance:

To compute the balance you subtract the smaller side from the larger
side. If debits exceed credits, the account has-a debit balance; 1f
credits exceed debits, 1t-has a credit balance.

The type of normal balance (debit or credit) depends on the account
class: assets and expenses normally carry debit balances; liabilities,
equity and revenue normally carry credit balances.

5. Interplay with double-entry bookkeeping

The three elements operate within the double-entry framework: each
transaction affects at least two accounts with equal total debits and
credits, which preserves the accounting equation: Assets = Liabilities
+ Owner’s Equity. Example transaction: Purchase inventory for cash
$1,000 under perpetual system — you debit Inventory (left column)
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$1,000 and credit Cash (right column) $1,000. Inventory’s debit side
increases, Cash’s credit side increases (i.e., reduces Cash).

6. Practical illustration (T-account format)
Inventory (Account title) Debits (left) | Credits (right)
_______________ R ——

1,000 (purchase)| 500 (sale COGS)

Running balance: compute net of left and right.

Cash (Account title)

Debits Credits

1,000 (purchase)
2,000 (collection)

7. Ledger posting and subsidiary elements

Beyond the basic three elements, a ledger account record often
contains additional fields useful in practice: date, reference or folio
number (linking to journal entry), description/narration, and
cumulative balance column. But the conceptual core remains title,
debit side, and credit side.
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8. Why these three elements matter pedagogically and practically

— They simplify understanding of debits and credits, making
it easier for students and practitioners to visualize how
transactions affect accounts.

— They form the building blocks for preparing trial balances
and financial statements because accurate posting to these
three parts ensures that the double-entry equation holds.

— Recognizing the normal balance and how debits/credits
change various accounts reduces posting errors.

9. Conclusion (compact restatement)

Inthe simplest form, an account has: (1) an account title (the name of
the account), (2) a debit side (left column where certain
increases/decreases are recorded), and (3) a credit side (right column
where the complementary increases/decreases are recorded). The
resulting balance — debit or credit — is the net effect of transactions
recorded on both sides and is used to prepare financial statements and
maintain the accounting equation.

Q.3 When Torretti Company began business on August 1, it
purchased a one-year fire insurance policy and debited the entire cost
of $7,200 to unexpired insurance. Torretti adjusts its accounts at the
end of each month and closes its books at the end of the year.

(20)
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(a) Give the adjusting entry required at December 31 with respect to
this insurance policy.

(b) Give the closing entry required at December 31 with respect to
insurance expense. Assume that this policy is the only insurance
policy Torretti had during the year.

© Compare the dollar amount appearing in the December 31 adjusting
entry (part a) with that in the closing entry (part b). Are the dollar
amounts the same? Why or.why not? Explain.

Answer — detailed step-by-step:

Facts restated precisely:-Torretti- purchased a one-year fire insurance
policy on August 1 at a total cost of $7,200. At the time of purchase
the entire.amount was debited to Unexpired Insurance (prepaid
insurance asset). The company makes-monthly.-adjustments and closes
books at year end (December 31). The insurance covers the 12-month
period beginning August 1 and ending July 31 of the following year.

Step 1 — compute monthly expense and the expense for the period
August 1-December 31

Compute the monthly insurance expense by dividing the annual
premium by 12 months:

7200 + 12 = 600 per month.

Now determine how many months of coverage have been consumed
from August 1 through December 31 inclusive: August, September,
October, November, December = 5 months.
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Total insurance expense to be recognized for the period August 1—
December 31 = 600 x 5 = 3,000.

(Workout digits explicitly: 600 x 5 =3000.)

Also note the unexpired (prepaid) portion remaining on December 31
equals the original prepaid 7,200 less the expired portion 3,000, i.e.,
7,200 — 3,000 = 4,200 (this prepaid amount represents coverage for
January through July of the next year).

(a) _Adjusting entry at December 31

Purpose: To recognize the insurance expired (expense) for the five
months and reduce the prepaid (unexpired) insurance asset
accordingly.

Journal entry on December 31— date, accounts and amounts:

Debit Insurance Expense .............. 3,000

Credit Unexpired Insurance (Prepaid Insurance) .............. 3,000

Explanation: Debiting Insurance Expense recognizes the portion of
the premium that has expired (been used) during the five months.
Crediting Unexpired Insurance reduces the asset to reflect that part of
the prepaid coverage has been consumed. After this adjusting entry,
the Unexpired Insurance (asset) balance equals 4,200 (7,200 original
— 3,000 expired).

(b) Closing entry required at December 31 with respect to
insurance expense (policy is the only insurance policy for the

year)
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At year-end, temporary accounts (revenues and expenses) are closed
to a summary account (often Income Summary) or directly to
Capital/Retained Earnings depending on the company’s procedure.
Insurance Expense is an expense account (temporary) and must be
closed.

Typical two-step closing approach (closing expenses to Income
Summary):

Journal entry to close Insurance Expense:

Debit Income Summary .................. 3,000

Credit Insurance Expense.. ...o..covies i+ 3,000

Explanation: This entry-transfers.the insurance-expense (a temporary
account) to Income Summary so that net income (or loss) can be
computed. If the company uses a single-step close or closes directly to
Retained Earnings/Capital, the functional effect is the same — the
Insurance Expense account balance is reset to zero and the expense is
aggregated into.owners’ equity via Income Summary and subsequent
closing to Capital/Retained Earnings.

If the company closes-all expenses in aggregate rather than
individually, the closing entry might be: Debit Income Summary and
Credit various expense accounts; but since Insurance Expense is the
only insurance policy and the question asks specifically, the entry
above is appropriate.

© Compare the dollar amount in the December 31 adjusting entry
(part a) with that in the closing entry (part b). Are the amounts the
same? Why or why not? Explain.
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Comparison and explanation: The dollar amounts in part (a) and part
(b) are the same: both are $3,000. Why?

— The adjusting entry recognizes the amount of insurance expense
that belongs to the current accounting period (August through
December). That amount is $3,000. The adjusting entry
establishes this amount as expense by debiting Insurance
Expense for $3,000 and reducing the prepaid asset for the same
amount.

— At closing, the purpose is to remove the temporary expense
from the ledger and transfer it to Income Summary (and
ultimately to Retained Earnings/ Capital). The amount being
closed is exactly the-balance that exists in the Insurance Expense
account after all adjusting entries'— which is $3,000 in this
scenario. Therefore-the-closing entry-debits Income Summary
and credits Insurance Expense for $3,000 to zero out the
expense account.

Hence the amounts are the same because the adjusting entry
determines the correct expense incurred in the period, and the closing
entry moves that same recognized expense out-of the temporary
expense account into the capital/retained earnings area. In short: the
adjusting entry creates the expense amount; the closing entry transfers
that already-recognized expense to owners’ equity — both refer to the
same monetary amount.

Additional clarity (common misunderstandings): Some students may
wonder whether the adjusting entry and closing entry could differ
because of timing or because prepaid was originally debited
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incorrectly. In this problem the entire premium was correctly debited
initially to Unexpired Insurance (prepaid asset) and monthly
adjustments are made only at period end. Therefore the adjusting
amount equals the expense to be recognized in the period and the
closing entry simply clears that same figure. If there had been other
insurance transactions (e.g., additional policies, partial refunds, or
different policy dates), the Insurance Expense account at year end
could include other amounts, and the closing entry would equal the
total expense balance — whatever it is after adjustments.

Summary numeric snapshot as of December 31 after adjusting entry:
— Insurance Expense (temporary) = 3,000 (before closing).

—Unexpired Insurance (prepaid asset) = 4,200 (remaining
coverage).

After closing entry: Insurance Expense = 0; Income Summary 1s
debited 3,000 (reducing net income) and then Income Summary will
be closed to Capital/Retained-Earnings according to standard closing
procedures.

Q.4 Concord Produets-uses a perpetual inventory system. On January
1 the Inventory account had a balance of $84,500. During the first few
days of January the following transactions occurred:

Jan. 2 Purchased merchandise on credit from Smith Company for
$9,200.

Jan. 3 Sold merchandise for cash, $22,000. The cost of this
merchandise was $14,300.
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(a) Prepare entries in general journal form to record the above
transactions.

(b) What was the balance of the Inventory account at the close of
business January 3?

(20)

Answers — show full perpetual system journal entries and compute
inventory balance.

Background: Under a perpetual inventory system, every purchase of
inventory increases the Inventory account at the time of purchase;
each sale triggers two entries:-(1)-revenue recognition (debit Cash or
Accounts Receivable; credit Sales) and (2) recognition of cost of
goods sold and reduction of Inventory (debit Cost of Goods Sold;
credit Inventory) for the.cost-associated with-the items sold.
Beginning balance of Inventory = $84,500:

(a) Journal entries — general journal format, with narrations:

Jan. 2 — Purchase on credit from Smith Company for $9,200
Date | Account titles and explanation | Debit | Credit

Jan. 2 | Inventory ........ccovviiiiiiiiiiii i, 9,200

| Accounts Payable — Smith Company .......... 9,200

| (To record purchase of merchandise on credit.)

Explanation: Under the perpetual system the purchase is recorded by
increasing Inventory directly and creating a liability (Accounts
Payable to Smith Company).
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Jan. 3 — Sale for cash of $22,000; cost of merchandise sold $14,300

Two entries required:

1. To record the sale (revenue recognition):
Jan. 3 | Cash ... 22,000
| Sales Revenue ..............ceciiiiee....... 22,000

| (To record cash sale of merchandise.)

2. To record cost of' goods sold and reduce Inventory:
Jan. 3 | Cost of Goods Sold .................ll 14,300
| Inventory ................. ...l 14,300

| (To record cost of merchandise sold-under perpetual inventory
system.)

(b) Inventory account balance at close of business January 3 —
computation and explanation

Start with beginning Inventory: 84,500.

Record the purchase on Jan. 2: add 9,200. New subtotal = 84,500 +
9,200 = 93,700.
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Record the reduction for cost of goods sold on Jan. 3: subtract 14,300.
New balance = 93,700 — 14,300 = 79,400.

Compute digit-by-digit to avoid arithmetic error:
84,500 + 9,200 = 93,700.
93,700 — 14,300 = 79,400.

Therefore, Inventory balance at close of business on January 3 =
$79,400.

Additional commentary useful for exam context: Under perpetual
inventory, Inventory on the balance sheet after the entries reflects
real-time inventory while Cost of Goods Sold on the income
statement captures the expense associated with goods sold. If a
periodic system were used, purchases would be debited to Purchases
and Inventory would not be adjusted at point of sale; instead, an end-
of-period physical count would determine cost of goods sold. But the
question clearly indicates a perpetual system, hence the entries above
are correct and Inventory closing balance is $79,400.

Q.4 (continued) — Additional portion: Shown below are selected
statistics from the recent annual reports of two well-known retailers.

Sears, Roebuck and Co. — Percentage increase (decrease) in net

sales: 7.2% — Percentage increase in comparable store net sales:
4.7%

Broadway Stores, Inc. — Percentage increase (decrease) in net sales:
(0.3)% — Percentage increase in comparable store net sales: 3.1%
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(a) Explain the meaning and significance of each of the two measures.

(b) Evaluate the performance of the two companies based on the two
measures.

(20 — treat as continuation of Q4; provide detailed analysis)

Answer — detailed description and interpretation:

(a) Meaning and significance of the two measures

1. Percentage increase (decrease) in net sales (total net sales
growth) — meaning:

This measure reports the year-over-yeatr percentage change in total net
sales (also called revenue) for the .company as reported in the income
statement. It compares total net sales for the current reporting period
with those of the prior period. Net sales typically equal gross sales
less returns, allowances, and discounts. Significance:

— It reflects the overall top-line growth (or decline) of the
company and is affected by multiple factors including
comparable-store sales, new store openings or closures,
acquisitions/divestitures, changes in merchandise mix, pricing
changes, promotional activity, and macroeconomic influences.

— It gives investors and managers a headline view of how the
company’s total revenue is trending. However, because it
aggregates all store-level and non-store contributions (online
sales, new stores, discontinued stores, acquired businesses), it
can mask the underlying health of the company’s existing
operations.
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2. Percentage increase in comparable store net sales (same-
store sales, comps) — meaning;:

Comparable-store sales measure the change in sales generated by
stores (or comparable channels) that have been open for a specified
baseline period (commonly at least 12 months). It excludes sales from
newly opened or recently closed stores, and generally excludes the
effects of acquisitions where stores are not yet comparable.
Significance:

— Comparable-store sales isolate the organic growth (or
contraction) of existing operations, reflecting true like-for-like
performance. It'1s a measure of operational effectiveness: how
well current stores attract customers, increase traffic, and/or
raise average ticket size.

— This metric is particularly important in retail because it removes
the distorting effect of expansion (opening new stores) or
shrinkage (store closures), thereby providing insight into same-
store market demand and management’s ability to grow sales
without relying on expansion.

— Strong comparable-store sales growth often signals improved
merchandise assortment, better merchandising, effective
promotions, or favorable macroeconomics; weak or negative
comps may indicate soft demand, competitive pressure, or
execution problems.

(b) Evaluation of the two companies based on the two measures

Given data:

—Sears: Net sales up 7.2%; Comparable-store sales up 4.7%
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— Broadway: Net sales down 0.3%; Comparable-store sales up
3.1%

Interpretation and evaluation:

1. Sears, Roebuck and Co. — analysis:

— Total net sales growth of 7.2% is solid; it indicates that the
company’s aggregate revenues increased year over year. The
comparable-store sales increase of 4.7% suggests that the
existing stores contributed materially to that growth through
improved same-store performances. Because comps are positive
(4.7%), at least part of the 7.2% total growth 1s organic, not
solely due to opening new stores or acquisitions.

— The gap between total net sales growth (7.2%) and comps
(4.7%) — a difference of 2.5 percentage points — could be
explained by additional contributions from new stores, increased
e-commerce sales, acquisitions, or other non-comparable
sources. The combination of positive comps and higher total
sales implies balanced growth: existing stores doing better and
other sources also contributing.

—Overall performance: Favorable. Positive comps indicate
healthy same-store operations and management effectiveness;
total growth above comps suggests scale expansion or additional
channels are also contributing. Further evaluation would
consider margin trends-and profitability, but-on the sales metrics
provided, Sears demonstrates a robust top-line performance.

2. Broadway Stores, Inc. — analysis:

—Total net sales showing a slight decrease of 0.3% indicates a
marginal contraction in overall revenue relative to the prior year.
However, comparable-store sales increased by 3.1%, which is
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positive and suggests that existing stores improved sales
performance.

—The divergence between comps (+3.1%) and total net sales
(—0.3%) suggests that factors outside the comparable store base
(for example, store closings, divestitures, lost sales from stores
under refurbishment, or negative contributions from newly
opened stores or acquired operations) offset the gains at existing
stores. Another possibility is that Broadway may have closed
several underperforming locations during the period; if closed
locations previously contributed sales, the total company sales
could fall even though the remaining stores improved.
Alternatively, Broadway may have converted stores, sold
operations, or faced declines in non-comparable channels.

—Overall performance: Mixed. The positive comps are
encouraging — they indicate good underlying retail
performance in stores that have been in operation long enough
to be comparable..Yet the slight decline in total net sales is a
warning sign that corporate-scale.factors-are eroding overall
revenue. Management needs to explain the negative top-line
despite positive comps: is the company shrinking by design
(strategic closures), or are there structural issues in
expansion/acquisition strategy?

3. Comparative evaluation between Sears and Broadway:

— Sears shows both positive comps and solid overall growth,
which on the face suggests a stronger overall performance than
Broadway. Sears’ 7.2% total growth combined with 4.7%
comps suggests both organic store strength and additional scale
contributions.

— Broadway’s positive 3.1% comps indicate underlying store-level
improvement, but the company’s overall sales shrinkage points
to strategic or operational issues at the portfolio level. In
essence, Broadway’s management has improved same-store
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results but has not translated this into top-line growth —
possibly due to store rationalization or other non-comparable
losses.

— Investors typically prefer companies where comps are positive
and total sales growth is also positive: it demonstrates healthy
core performance and effective scaling. By that metric, Sears
appears stronger.

4. Caveats and additional measures to consider:

—Margin and profitability: Sales growth does not automatically
translate into higher profits. Cost control, gross margin changes
(markdowns, vendor allowances), SG&A efficiency and capital
expenditures affect profitability. A retailer can grow sales but at
the cost of margin eresion.

—Store count changes and channel mix: The reason for divergence
between comps and total sales should be investigated. Are new
stores underperforming? Is the company deliberately closing
weak stores (which can improve long-term profitability)? Is e-
commerce shifting sales patterns?

— External environment: Economic conditions, competitive
dynamics, consumer trends, and promotional intensity can affect
both measures. Seasonal effects-and one-time items (e.g., store
remodels) should be adjusted for in analysis.

— Quality of comps calculation: Differences in how each company
defines a “comparable store” can affect comparability. Some
companies exclude stores affected by remodels; others include
them after a qualifying period.

5. Conclusion — judged solely on the two measures
provided:

23|Page




— Sears exhibits stronger and more favorable performance:
positive comps (4.7%) and robust total sales growth (7.2%)
suggest good operational execution and successful scaling.

— Broadway shows encouraging same-store improvement (3.1%)
but overall sales decline (—0.3%) indicates that positive in-store
performance is being offset by other factors impacting total
revenue; this 1s mixed and warrants further examination.
Investors should favor Sears on these sales metrics but must also
examine margins, cash flow and strategic context before
drawing final conclusions.

Q.5 Which form of partnership would-be - most-appropriate for a law
practice? Explain.

(20)

Answer — detailed discussion and recommendation:

When evaluating the most appropriate legal form of partnership for a
law practice, one must consider several factors that are characteristic
of professional firms: exposure to malpractice claims, the need for
professional independence, regulatory constraints, tax considerations,
management control, liability of partners for the acts of others,
continuity and ease of formation. Based on these considerations, the
Limited Liability Partnership (LLP) is typically the most suitable
form for a law practice in many jurisdictions. Below is a detailed
explanation of why an LLP is commonly preferred, a comparison with
alternative partnership forms, and practical caveats.
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1. Overview of common partnership forms available to
professional practices

—General Partnership (GP): All partners share management
responsibilities and profits, and each partner 1s personally liable
for partnership obligations and for the wrongful acts (including
negligence) of other partners (joint and several liability in many
jurisdictions). Formation is usually simple, often by agreement,
and taxation is pass-through (partners taxed individually).

— Limited Partnership (LP): Consists of at least one general
partner (with management control and unlimited liability) and
one or more limited partners (liability limited to capital
contribution but limited partners generally cannot participate in
active management). LPs are not commonly used for law
practices because attorneys typically need management
involvement and prefessional regulations often require active
participation by partners.

— Limited Liability Partnership (LLP): A hybrid entity that
provides pass-through tax treatment like a partnership but offers
partners protection from personal liability for certain partnership
obligations and, critically for professionals, shields partners
from personal liability for the negligent acts or malpractice of
other partners (depending on jurisdiction). LLPs are formed
under statute and require registration; partners remain personally
liable for their own malpractice or for obligations they
personally authorize.

— Professional Corporation (PC) / Professional Limited Liability
Company (PLLC): These are corporate or LLC forms restricted
to licensed professionals, offering limited liability for business
debts but often not insulating professionals from personal
malpractice liability. PCs and PLLCs have different corporate
formalities and tax consequences; PCs may be taxable entities
with potential double taxation unless S-corporation election is
available and permitted.
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2. Why LLP is generally most appropriate for a law practice —
detailed reasons

A. Protection from other partners’ negligence or malpractice

One of the most important risks in law practice is malpractice
exposure. In a general partnership, a partner could be personally liable
for malpractice committed by a colleague. An LLP typically limits a
partner’s personal liability for claims arising from another partner’s
wrongful acts, negligence, or omissions. This means that Partner A’s
personal assets are generally shielded from Partner B’s malpractice
claims, protecting personal wealth and encouraging risk-sharing
among partners.

B. Pass-through taxation and'simplieity

LLPs commonly provide pass-through taxation: the entity itself is not
taxed at the partnership level; profits and losses pass through to
partners’ individual tax returns. For many small and medium-sized
law practices, pass-through taxation is tax-efficient and avoids
corporate-level tax.-Additionally, compared to a corporation, LLPs
usually have fewer formalities and are-administratively simpler.

C. Freedom for professional management and participation

Unlike an LP, which restricts limited partners from participating in
management, an LLP allows all partners to participate in management
without exposing them to unlimited liability for the acts of other
partners. This is crucial in law firms where partners typically want to
practice law and also participate in firm governance.
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D. Regulatory acceptance and professional practice fit

Many jurisdictions have specific statutes permitting licensed
professions (lawyers, architects, accountants) to form LLPs or
professional LLPs (PLLPs). Bar associations and professional rules
often recognize LLPs as a suitable form, subject to registration and
compliance with ethical rules (client confidentiality, trust account
requirements, conflict-of-interest rules).

D. Perception and continuity

LLPs offer the perception of a formal, established business entity that
can enhance credibility with clients and counterparties. LLPs also
provide a mechanism for continuity; withdrawal or death of a partner
doesnot necessarily dissolve the firm as it might in a GP, depending
on the partnership agreement. A well-drafted LLP agreement can
provide buyout, retirement, admission and succession rules.

E. Flexibility in profit-sharing and governance

LLP agreements can be tailored to define partners’ capital
contributions, profit allocation, governance structures, compensation
models (lockstep, eat-what-you-kill, hybrid), decision-making
thresholds, dispute resolution mechanisms, and restrictions on
competition and solicitation. This flexibility 1s essential for law firms
which often adopt complex compensation and incentive systems.

3. Comparison with alternatives — why other forms are usually
less suitable

A. General Partnership — pros and cons

Pros: Very easy to form, full flexibility, pass-through taxation.

27|Page




Cons: Unlimited personal liability for partnership debts and for acts of
other partners; exposure to joint and several liability is a severe
drawback for professional services with malpractice risk. Because of
liability concerns, GP is rarely appropriate for modern law firms
beyond short-lived or informal arrangements.

B. Limited Partnership — pros and cons

Pros: Allows passive investors to contribute capital with limited
liability.

Cons: Limited partners cannot participate in management without
risking limited status; this makes LPs unsuitable when all partners are
practicing attorneys who need management participation. Also, the
general partner in an LP retains unlimited liability — undesirable for
risk exposure.

C. Professional Corporation (PC) or PLLC — pros and cons

Pros: Limited personal liability against business debts; may offer
some tax planning opportunities; corporate structure may be suitable
for larger firms.

Cons: In many jurisdictions, personal liability for malpractice
typically remains; forming a PC may invelve more formalities and
potential unfavorable tax treatment unless S-corp election is available
and appropriate. Furthermore, PCs have more rigid governance and
potential constraints on profit distribution, and regulatory rules for
professional corporations vary.

4. Practical considerations and recommended protections even
within an LLP
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— Professional liability insurance: Even though an LLP limits
partner liability for other partners’ negligence, individual
partners remain personally liable for their own malpractice.
Therefore, comprehensive malpractice (professional liability)
insurance is essential for every law practice. Insurance limits,
policy terms, deductibles and tail coverage should be carefully
chosen.

— Well-drafted partnership/LLP agreement: The LLP agreement
should address capital contributions, allocation of profits and
losses, compensation policies, authority for commitments,
admission and withdrawal of partners, indemnification
provisions, dispute resolution, procedures for dealing with
malpractice claims, and procedures for dissolution or sale.
Indemnity clauses, limitation of authority, and client
engagement letters clarifying fee arrangements and scope of
representation help-manage risk:

— Regulatory compliance and ethical rules: Lawyers must ensure
formation and operations comply-with bar rules and statutes:
trust accounting (client funds), conflicts of interest screening,
advertising rules, and restrictions on fee-splitting with non-
lawyers. Some jurisdictions require that LLPs be composed only
of licensed professionals; others permit non-attorney investors
under certain conditions — verify local law.

— Capital needs and financing: LLPs can raise capital subject to
partnership rules; some firms may consider including non-equity
partners or alternative investment arrangements, but
professional rules often restrict non-lawyer ownership or
control.

— Succession planning and retirement: An LLP facilitates
continuity if properly structured; buy-sell arrangements and
insurance-funded buyouts reduce disruption when partners retire
or die.

— Tax planning: While pass-through taxation is typically
advantageous, tax implications vary by jurisdiction and partner
circumstances; firms should consult tax advisors regarding
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partner-level taxes, self-employment tax, and retirement plan
design.

5. Jurisdictional and regulatory caveats

Choice of entity depends on local law. In many countries and U.S.
states, LLP statutes explicitly permit law firms to form LLPs; in
others, professional corporations (PC) or professional LLCs (PLLC)
are the prescribed vehicle. Some bar associations impose additional
rules on firm names, ownership, and fee-splitting. Therefore, while
LLP is often optimalin principle, the final choice must account for
licensing rules, taxation, malpractice insurance availability, and local
partnership statutes.

6. Concluding recommendation (clear statement)

For a law practice, a Limited-Liability Partnership (LLP) is generally
the most appropriate form because it combines:(a) protection from
personal liability for other partners’ negligent acts, (b) pass-through
taxation, (¢) management participation for all partners, and (d)
flexibility to craft a partnership agreement tailored to professional
practice needs.. To implement an LLP properly, the firm should (1)
ensure compliance with relevant professional regulations, (ii) secure
adequate professional liability insurance,-and (ii1)-adopt a detailed
LLP agreement governing governance, compensation, liability
allocation and succession. Iflocal law restricts LLP formation for
lawyers, a Professional Corporation (PC) or Professional LLC
(PLLC) may be considered, with the understanding that each form has
distinctive tax and liability implications that must be evaluated with
legal and tax counsel.

Q.6

Journal Entries and Calculations:
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Given Data:

Net Credit Sales for the Year = Rs. 3,000,000

Accounts Receivable at Year-End = Rs. 360,000

Uncollectible Accounts Written Off During the Year = Rs. 43,650

Estimated Portion of Year-End Receivables Expected to Prove Uncollectible (Per Ageing
Schedule) = Rs. 18,000

Allowance for Doubtful Accounts at Beginning of the Year = Rs. 15,000

(a) When Uncollectible Accounts Expense is estimated as 1.5% of Net Credit Sales
Step 1: Calculate Estimated Uncollectible Accounts Expense

= Rs. 3,000,000 x 1.5%

= Rs. 45,000

Step 2: Record the journal entry to recognize uncollectible accounts expense

Journal Entry:
Uncollectible Accounts Expense..... Dr. Rs. 45,000
Allowance for Doubtful.ACCOUNE S e wmn Cr.. Rs. 45,000

This entry records the estimated amount of bad debts expense based on a percentage of sales.
The Allowance for Doubtful Accounts is increased by Rs. 45,000.

(b) When Uncollectible Accounts Expense is recognized by adjusting the balance in the
Allowance for Doubtful Accounts

Step 1: Determine the Adjusted Balance Needed in the Allowance for Doubtful Accounts
(per aging schedule)
=Rs. 18,000

Step 2: Compute the current balance before adjustment
Beginning Allowance Balance = Rs. 15,000

Less: Write-offs during the year = Rs. 43,650

Balance before adjustment = Rs. (28,650) (a debit balance)

Step 3: Compute the required adjustment

To have a credit balance of Rs. 18,000, the allowance account must increase by:
= Rs. 18,000 (desired credit balance) + Rs. 28,650 (debit balance to remove)
=Rs. 46,650

Step 4: Record the adjusting entry

Journal Entry:

Uncollectible Accounts Expense..... Dr. Rs. 46,650
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Allowance for Doubtful AcCcoUntS.... Cr. Rs. 46,650

Explanation:

In part (a), the estimate is based on total sales for the year, while in part (b), the estimate is
based on the aging of accounts receivable at year-end. The difference in dollar amounts (Rs.
45,000 vs Rs. 46,650) occurs because the two methods use different bases for estimation. The
percentage-of-sales method focuses on matching expense to sales, while the aging method
focuses on the balance sheet valuation of receivables.

Q.7

Given Trial Balance (June 30, 2011):

Account Debit (Rs.) Credit (Rs.)
Cash 3,700
Accounts Receivable 2,900
Unexpired Insurance 490
Supplies 1,460
Equipment 18,600
Accumulated Depreciation (Equipment) 2,480
Notes Payable 10,000
Earned Revenue 1,200
Capital 14,190
Drawing 1,500
Revenue from Services 5,130
Rent Expense 2,450
Salaries Expense 1,900
Total 33,000 33,000

Adjustments: a. Insurance expired for the month = Rs. 70
b. Supplies used = Rs. 560
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c. Depreciation expense = Rs. 310

d. Interest accrued on note payable = Rs. 80

e. Revenue earned during the period = Rs. 800
f. Salaries payable = Rs. 500

(a) Adjusting Entries
1. Insurance Expense

Insurance Expense.......... Dr. Rs. 70
Unexpired INSUXaNCE..rons Cr. . Rs. 70

2. Supplies Expense

Supplies ExXpense.... Dr. Rs. 560
SUPPLIiES e Cr. Rs. 560

3. Depreciation Expense

Depreciation Expense........... Dr. Rs. 310
Accumulated Depreciation’ (Equipment) ... Cg. Rs. 310

4. Interest Expense

Interest Expense..... Dr. Rs. 80
Interest Payable.....imin, Cr+ Rs+ 80

5. Revenue Earned

Accounts Receivable.......... Dr. Rs. 800
Revenue from SEerviCeS... Cr. Rs. 800

6. Salaries Payable

Salaries ExXpense.... Dr. Rs. 500
Salaries Payable..iiin. Cr. Rs. 500

(b) Income Statement (for the month ended June 30, 2011)
Revenues:

o Earned Revenue =Rs. 1,200
¢ Revenue from Services = Rs. 5,130 + Rs. 800 (adjustment) = Rs. 5,930
Total Revenues =Rs. 7,130

Expenses:

¢ Rent Expense =Rs. 2,450
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¢ Salaries Expense = Rs. 1,900 + Rs. 500 = Rs. 2,400
e Supplies Expense = Rs. 560

¢ Insurance Expense =Rs. 70

o Depreciation Expense = Rs. 310

e Interest Expense =Rs. 80

Total Expenses = Rs. 5,870

Net Income = Rs. 7,130 - Rs. 5,870 = Rs. 1,260

Balance Sheet (as on June 30, 2011)
Assets:

¢ Cash=Rs. 3,700
e Accounts Receivable =Rs. 2,900 + Rs. 800 = Rs. 3,700
e _Unexpired Insurance = Rs. 490 - Rs. 70 = Rs. 420
e Supplies = Rs. 1,460 - Rs. 560 = Rs. 900
¢/ Equipment = Rs. 18,600
e Accumulated Depreciation = Rs. (2,480 + 310) = Rs. (2,790)
Total Assets = Rs. 3,700 + 3,700 + 420 + 900 + (18,600 - 2,790) = Rs. 24,530

Liabilities:

¢ Notes Payable =Rs. 10,000

¢ Interest Payable = Rs. 80

e Salaries Payable = Rs. 500
Total Liabilities = Rs. 10,580

Owner’s Equity:

e Capital=Rs. 14,190

e Add: Netlncome =Rs. 1,260

e Less: Drawings = Rs. 1,500
Owner’s Equity =Rs. 13,950

Total Liabilities & Equity = Rs. 10,580 + Rs. 13,950 = Rs. 24,530

Q.8

Given: Opening Inventory = Rs. 120,000
Jan. 2: Sold telescope (cost Rs. 37,200, sales Rs. 62,000)
Jan. 5: Purchased merchandise on account Rs. 80,000 (terms 2/10 n/30)
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(a) Journal Entries (Perpetual Inventory System)

1. Jan. 2-Sale Transaction

Cashu e, Dr. Rs. 62,000
Sales RevenuUe...ceeenn, Cr. Rs. 62,000

To record sale of telescope for cash.

Cost of Goods Sold....... Dr. Rs. 37,200
INVENTOT Veoerereereeerereseninens Cr. Rs. 37,200

To record cost of goods sold and reduce inventory.

2. Jan.5-Purchase on Account

Inventor Vi . Dr. Rs. 80,000
Accounts. Payable (ABC) s Cr. Rs. 80,000

To record purchase of merchandise on account.

(b) Compute Balance of Inventory Account (Jan.7)
Opening Inventory = Rs. 120,000

Less: Cost of Goods Sold = Rs. 37,200

Add: Purchase = Rs. 80,000

Inventory Balance = 120,000 - 37,200 + 80,000 = Rs. 162,800

Q.9

(a) Straight-Line Method
Cost of Machinery = Rs. 50,000
Residual Value = Rs. 20,000
Useful Life = 5 years

Depreciation per year = (Cost — Residual Value) / Useful Life
= (50,000 —20,000) / 5 = Rs. 6,000 per year

Year Depreciation (Rs.) Accumulated Depreciation (Rs.) Book Value (Rs.)

1 6,000 6,000 44,000
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Year Depreciation (Rs.) Accumulated Depreciation (Rs.) Book Value (Rs.)
2 6,000 12,000 38,000

3 6,000 18,000 32,000

Book Value after 3 years = Rs. 32,000

(b) Comparison: Straight-Line vs Reducing Balance Method

Basis Straight-Line Method Reducing Balance Method
Calculation Equal depreciation each year based Depreciation charged on
Basis on original cost reducing book value

Higher depreciation in early

Expense Pattern Constant expense each year
years, lower later

=i Suitable for assets with uniform Suitable for assets losing
Suitability - ] . :
utility efficiency over time
Simplicity Simple and. easy'to calculate Comparatively complex

Considered while calculating

Residual Value
annual charge

Not directly considered annually

Effect on Book

Value Decreases evenly over time Decreases rapidly in early years

Q.10
Bank Reconciliation Computation

Title 1 2 3 4
Balance as per Bank Statement A 8200B 175
Depositin Transit 600 10009400 50
Outstanding Cheques 1500 9400125 1250

Balance as per Cash Book 2600 C D ?
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Let’s calculate each:

Column 1:
A + 600 -1500=2600 — A =3500

Column 2:
8200 +1000-9400=0—>C=0

Column 3:
B+9400-125=D —>B=125+D -9400

Assuming Cash Book balance D = 225 (as given below the question, minor correction), then
B =125+ 225-9400 =-9050 — B = Rs. (9,050) (Overdraft)

Column 4:
175+ 50 - 1250 = 2— =-1025 — Balance per Cash Book = Rs. (1,025) (Overdraft)

Final Answers: A = 3,500
B =(9,050)

C=0

D =225
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